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Weekly Assignment - #2 
 

 
Law 

 
1. Section 54 provides- 

(a) Definition of sale   (b) Rights and liabilities of buyer and seller 
(c) Part performance    (d) Transfer by ostensible owner 

 
2. Section 137 provides 

(a) Saving of negotiable instrument  (b) Incapacity of officers connected with courts of justice 
(c) Warranty of solvency of debtor (d) None of these  

 
3. Provision by court for encumbrances and sale freed there from are given- 

(a) Under section 55   (b) Under section 56 
(c) Under section 57   (d) Under section 58 

 
4. In case of tangible immovable property of a value less than one hundred rupees or upward, transfer can be made- 

(a) Only by registered instrument 
(b) By delivery of the property  
(c) Either by registered instrument or by delivery of property 
(d) None of these  

 
5. The seller is bound- 

(a) To disclose to the buyer any material defect in the property or in the seller’s title thereto of which the seller is, 
and the buyer is not aware and which the buyer could not with ordinary care discover  

(b) To produce to the buyer on his request for examination all documents of title relating to the property which are 
in the seller’s possession? 

(c) To give, on being so required, the buyer, or such person as the directs, such possession of the property and its 
nature admits 

(d) All of these 
 
6. Which of the following cases is in connection with parliamentary privileges? 

(a) A.K. Gopalan v. Union of India 
(b) Minerva Mills v. Union of India 
(c) Maneka Gandhi v. Union of India 
(d) Keshav Singh v. Speaker of the U.P. Assembly. 

 
7. A member of Parliament can claim immunity:- 

(a) both from civil as well as criminal cases 
(b) from civil cases only 
(c) from criminal case only 
(d) cannot claim immunity either for civil or criminal cases 

 
8. Ordinance promulgated by President under Article 123 of the Constitution of India shall cease to operate after 

(a) 3 months (b) 6 months (c) 6 weeks (d) 15 days  
 
9. The Supreme Court of India in the case of State of Haryana v. Danesh Kumar (2008) held that ‘arrest’ implies: 

(a) apprehension of the accused by the police officer. 
(b) apprehension of the accused by the police officer or the submission of the accused to the custody by word or 

action including when he is in the judicial custody on surrender before the court and/or submits to its direction 
(c) handcuffing of the accused by the police officer 
(d) handcuffing and putting the accused in police or judicial custody 
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10. Who can constitute the State Administrative Tribunal under the Administrative Tribunal Act, 1985? 
(a) President of India   (b) Supreme Court 
(c) Parliament   (d) Concerned State Government 

 
11. The total number of Ministers, including the Prime Minister in the Council of Minister should not exceed- 

(a) 20% of the total number of members of Lok Sabha. 
(b) 15% of the total number of members of Lok Sabha. 
(c) 20% of the total number of members of Rajya Sabha. 
(d) 15% of the total number of members of both the Houses. 

 
12. Which provision of the Constitution of India is incorporated the “principle of collective responsibility” of the Council of 

Ministers?  
(a) Article 75(3) (b) Article 75(1) (c) Article 171(4) (d) Article 118(4) 

 
13. Consider the following statements: 
 The analysis of the Article 73 of the Constitution of India which deals with the extent of executive power of the 

Union, discloses that: 
1. the executive power of the Union extends to all matters with respect to which the Parliament has the power to 

make laws 
2. for the exercise of the said executive power it is not necessary that the Parliamentary law must be in existence 
3. the Government of India may also exercise such authority available under any treaty 

 Which of the statements given above are correct? 
(a) 1 and 2 (b) 2 and 3 (c) 1 and 3  (d) 1, 2 and 3 

 
14. Which of the following Amendments of the Constitution made in mandatory for the President to accept the advice 

given by Council of Ministers? 
(a) 39th Amendment   (b) 42nd Amendment 
(c) 49th Amendment   (d) 44th Amendment 

 
15. When the President is to be impeached, the charge shall be preferred by; 

(a) Either House of the Parliament 
(b) The Upper House of the Parliament 
(c) The Lower House of the Parliament 
(d) Both the Houses of the Parliament simultaneously 

 
16. President addresses his resignation to:- 

(a) The Speaker of Lok Sabha (b) Chief Justice of Supreme Court 
(c) Vice-President   (d) Prime Minister 

 
17. In which Article of the constitution, the eligibility for re-election of the President is given? 

(a) Article-57 (b) Article-58  (c) Article-59 (d) Article-60  
 
18. As per Article 21A, the state shall provide free and compulsory education to all children of the age of; 

(a) Six to fourteen years  (b) Six to twelve years 
(c) Six to ten years   (d) Six to eighteen years 

 
19. The royal command of a Court for enforcement of a Fundamental Right is called- 

(a) Public Interest Litigation  (b) Writ 
(c) Direction   (d) None of the above 

 
20. “A” and “B” were the candidates for the post of Professor in a University. “B” is selected. “A” challenges the 

selection and appointment. What writ he should pray for? 
(a) Mandamus (b) Certiorari  (c) Prohibition  (d) Quo warranto 

 
21. The tenancy of an immovable property is monthly. In order to terminate the lease of it, a notice of which period shall 

be given: 
(a) One month  (b) Two months (c) Six months (d) Fifteen days 

 
22. The following is not immovable property: 

(a) Royalty  (b) Right to way (c) Right to fishing (d) Right of redemption 
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23. Tangible immovable property of value of this amount or upward, can be transferred only by a registered instrument: 
(a) Rs. 100  (b) Rs. 50 (c) Rs. 25 (d) Rs. 90 

 
24. Transfer of immovable property by way of gift not comprises necessary element is: 

(a) Donor and Donee 
(b) Acceptance by or on behalf of the donee 
(c) By way of registered deed attested by at least two witnesses 
(d) Only delivery of the property 

 
25. In respect of transfer of property, under Transfer of Property Act, which of the following statements is not true? 

(a) Transfer can be done immediately or in future 
(b) Transfer of property can be done to one or more living persons 
(c) One cannot transfer property to one self 
(d) None of them 
 

General Knowledge 
 
26. What are the main components of Brass Alloy?  
 (a) Copper and Nickel   (b) Copper, Zinc and Nickel 
 (c) Copper and Strontium  (d) Copper and Zinc 
 
27. Kelvin (K) is the unit of measurement of __________. 
 (a) Temperature (b) Mass (c) Pressure (d) Density 
 
28. The Vivekananda rock Memorial is located in which of the following states? 
 (a) West Bengal (b) Assam (c) Jammu kashmir (d) Tamil Nadu 
 
29. What is the value of the Least Distance of Distinct vision for a normal human being? 
 (a) 2.5 CM (b) 25 CM (c) 20 CM (d) 30 CM 
 
30. Who has authored the book titled ‘The Very, Extremely, Most Naughty Asura Tales’? 
 (a) Ravi Subramanian   (b) Ashwin Sanghi 
 (c) Anand Neelakantan   (d) Devdutt Pattanaik 
 
31. Manipur, Meghalaya and Tripura became states under ______. 
 (a) North Eastern Region New State Act, 1972 
 (b) North Eastern Retention (Reconstruction) Act, 1971 
 (c) North Eastern Areas (Reorganisation) Act, 1971 
 (d) North Eastern Republic of India Act,1972 
 
32. Buland Darwaza is located in which of the following states? 
 (a) Tamil Nadu (b) Uttar Pradesh (c) Karnataka (d) West Bengal 
 
33. Fog, clouds, mist are examples of___. 
 (a) Gel (b) Foam (c) Solid sol (d) Aerosol 
 
34. Which state of India has the longest mainland coastline? 
 (a) Gujarat (b) Kerala (c) Maharashtra (d) Odisha 
 
35. Which state has lowest birth rate in India? 
 (a) Karnataka (b) Tamil Nadu (c) Gujrat (d) Kerala 
 
36. World’s largest Solar Park Kurnool Ultra Mega Solar Park is located at ________. 
 (a) Andhra Pradesh (b) Maharashtra (c) Uttar Pradesh (d) Tamil Nadu 
 
37. In which language did Babar wrote his Autobiography? 
 (a) Turki (b) Arabi (c) Farsee (d) None of these 
 
38. Which city is known as the ‘Manchester of South India’? 
 (a) Coimbatore (b) Bangalore (c) Ahmedabad (d) Madurai 
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39. Na2CO3 is the chemical formula of ___________. 
 (a) Sodium chloride   (b) Baking Soda 
 (c) Sodium bicarbonate   (d) Sodium carbonate 
 
40. According to Census 2011, what percentage of the total population of India lives in Uttar Pradesh? 
 (a) 15.20 (b) 14.80 (c) 16.51 (d) 16.16 
 

English 
 
41. In the following questions, choose the word opposite in meaning to the given word. 
 Loquacious 
 (a) Abstemious (b) Fastidious (c) Taciturn (d) Mellifluous 
 
42. In the following questions, out of the four alternatives, choose the one which best expresses the meaning of the 

given word. 
 Tyrant (a) Abysmal (b) Pithy (c) Prolix 
 (d) Dictator 
   
43. In the following questions, choose the word opposite in meaning to the given word. 
 Profound 
 (a) Detest (b) Punitive (c) Turgid (d) Superficial 
   
44. In the following questions, out of the four alternatives, choose the one which best expresses the meaning of the 

given word. 
 Relinquish 
 (a) Renounce (b) Reject (c) Recover  (d) Restore 
 
45. In each of the questions below, an idiom is given, followed by four options. Select the option that gives the correct 

meaning of the idiom.  
 Play devil's advocate 
 (a) To present a counter argument (b) To start a heated debate 
 (c) To reject the common opinion (d) To refuse to succumb to peer pressure 
   
46. In each of the questions below, an idiom is given, followed by four options. Select the option that gives the correct 

meaning of the idiom. 
 All brawn and no brains 
 (a) Physically strong but not very intelligent (b) Rude to inferiors 
 (c) Think too much of oneself (d) Hardworking 
   
47. Out of the four alternatives, choose the one which can be substituted for the given words/sentences and mark it. 
 Comfort in grief or sadness 
 (a) Solace (b) Proscribe (c) Partisan (d) Vapid 
   
48. Out of the four alternatives, choose the one which can be substituted for the given words/sentence. 
 The ruler or a person who is tyrant 
 (a) Despot (b) Anarchist (c) Righteous (d) Saviour  
 
 Directions (Q.49 and Q.50): Identify the part of these sentence which is incorrect. 
 
49. The manager was pleased (1) / with the quality of work (2) / submitted by her (3)/ No error (4) 
 (a) 1 (b) 2 (c) 3 (d) 4 
 
50. Was you asked (1)/ the same question (2) / by the teacher? (3)/ No error (4) 
 (a) 1 (b) 2 (c) 3 (d) 4 
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Answer Key 
 

1. a 2. a 3. c 4. a 5. d 6. d 7. b 8. c 9. b 10. a 

11. b 12. a 13. d 14. b 15. a 16. c 17. a 18. a 19. b 20. d 

21. d 22. a 23. a 24. d 25. c 26. d 27. a 28. d 29. b 30. c 

31. c 32. b 33. d 34. a 35. d 36. a 37. a 38. a 39. d 40. c 

41. c 42. d 43. d 44. a 45. a 46. a 47. a 48. a 49. d 50. a 
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